
Großparzellenversuch Wagna -  LFS Silberberg 2018 
 

B a h n       Richtung Leibnitz 
 

   56 10 56 10 56 10 56     

  0,5  ↓  ↓ 0,5   0,5 ↓  ↓ 0,5   0,5 ↓  ↓ 0,5   0,5 ↓  ↓  0,5    

   29      1 mit Begrünung       KM1  30   3 mit Begrünung       KM2  31   4 mit Begrünung       Kürbis  32   2 mit Begrünung       Triticale     

 18          18   

              

              
  1,0     1,0   1,0    1,0   1,0    1,0   1,0     1,0    
 2,5          5,5   

  1,5  ↓  ↓ 2,5   2,5 ↓  ↓ 3,0   3,0 ↓  ↓3,65   3,8↓  ↓  4,5    

   25   4 ohne       Kürbis  26   2 ohne       Triticale  27   1 ohne       KM1  28   3 ohne       KM2     

 18          18   

              

              
  1,0     1,0   1,0    1,0   1,0    1,0   1,0     1,0    
 3,0          3,0   

  2,0  ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓  2,0    

   21   4 mit Begrünung       Kürbis  22   2 mit Begrünung       Triticale  23   3 mit Begrünung       KM2  24      1 mit Begrünung       KM1     

 18          18   

              

              
  1,0     1,0   1,0    1,0   1,0    1,0   1,0     1,0    
 3,0          3,0   

  2,0  ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓  2,0    

   17   3 ohne       KM2  18   1 ohne       KM1  19   4 ohne       Kürbis  20   2 ohne       Triticale     

 18          18   

              

              
  2,0     2,0   2,0    2,0   2,0    2,0   2,0     2,0    

 4,0    L y s i m e t e r               4,0   

  2,0  ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓  2,0    

   13  3 mit Begrünung       KM2  14      1 mit Begrünung       KM1  15   2 mit Begrünung       Triticale  16   4 mit Begrünung       Kürbis     

 18          18   

              

              
  2,0     2,0   2,0    2,0   2,0    2,0   2,0     2,0    
 4,0          4,0   

  2,0  ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓  2,0    

   09   2 ohne       Triticale  10  4 ohne       Kürbis  11   3 ohne       KM2  12   1 ohne       KM1     

 18          18   

              

              
  2,0     2,0   2,0    2,0   2,0    2,0   2,0     2,0    
 4,0          4,0   

  2,0  ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓  2,0    

   05      1 mit Begrünung       KM1  06   3 mit Begrünung       KM2  07   2 mit Begrünung       Triticale  08   4 mit Begrünung       Kürbis     

 18          18   

              

              
  2,0     2,0   2,0    2,0   2,0    2,0   2,0     2,0    
 4,0          4,0   

  2,0  ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓ 2,0   2,0 ↓  ↓  2,0    

   01   2 ohne       Triticale  02   4 ohne       Kürbis  03   1 ohne       KM1  04   3 ohne       KM2     

 18          18   

              

              
  1,0     1,0   1,0    1,0   1,0    1,0   1,0     1,0    

   56 10 56 10 56 10 56     
 

 

 
 

Stickstoff-Düngung: 
 

mit Begrünung 

= hohe Ertragserwartung 
 

ohne Begrünung 

= mittlere Ertragserwartung 
 

KM1 mit         = 168 N/ha 

KM1 ohne       = 140 N/ha 
 

KM2 mit         = 168 N/ha 

KM2 ohne       = 140 N/ha 
 

Triticale mit    = 132 N/ha 

Triticale ohne  = 110 N/ha 
 

 

Kürbis mit       = 60  N/ha 

Kürbis ohne     = 60  N/ha 
 

 

 
 

 


